EARAROBREBRT —5 XN—ZXBISH—F 2022678238 (£) 20HES7H

R PEE VYA ‘ X7 2 ‘ (BRI — | = 20000 F4E
[AE%) 1 % :7,000,000  ~ 23&:2,800,000 "  337%:1,800,000H . 43#&:1,100,000  ~ 5 & :700,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
2 | ERHAR 2:08.9 5-4-1-1 | 36.2| 78.3 | 1 490 | /NEEfmEL (GSE)
118110/ VAR N7 52.0 (=) =) (ﬁk)m/—lt)bl“
RIIRTVFUY B:TWTJaty #Haait /—RelLX

SR, = 09, 495 |35 75. SAMEAES (&)
]4 J—)LRNSH— 4 2 % (21019/22) 5-4-9-5 |35.5| 75.9 6 458 éﬁ%%

R:d—)VR7I9— #:d—)LRJO-U— BT 74
318/ 9 | ROVIFI—V "2 554,%%5)3 2(:30/94)3 M R R (584) Ea(g;ﬁg/(?iﬁ)b— Y
R:O—RAFO7 B:AIv—IVITUA J=YUTr7—L
o= » ERE] 3 -4-5- iEMEST
N . BEEdrrsdl 5 71| e 2.?39).8 4-4-5-5 |36.6| 68.8 | 7 (452) %&%ﬁ )
R:IvIIkTy & Bikyd—97—)b =t e
3 FlgEx : 14— ;
5 3 PR/ —7 o2 ’;_3 2.(13(3.3 1-1-4-4 | 37.2]59.9 | 3 (452) Ea(gﬁgh(f;ﬁi)_lﬁwt_
RiVPRIVIA B:E2—-F 4 TVARU—h IYDST7—L
= STEER : 97— ie 5
6l72|7 | F—WPIL=2—) B2 54_0@ (21.1%3 10-9-7-7 | 37.2 | 58.0 | 10 (538) %tgg €S
RiFARIU—RFry b B:I—FRTI— YSILYA 1T 7 — LA
N LM : I-lES
7l5|5 | /=F—FaxV K #o2 | RHEE 2.(12(;.9 2-2-3-3 [38.0| 495 | 8 (414) ngﬁtﬁ ES5)
R:F4—FTUSYF BIXSINVYITY FRS5Y
— e < : -7-9- BEH= G
az AT AR w2 | ER | e |7 [walea| s | (mmEw
RiW—>—IvT B:E—-—ZATSY FrIEFIRT7—A
N 2 | MEIES 2:12.0 7-7-5-8 |38.8|37.0 | 9 | 424 |LRiEZ H)
9l7|8|91MFFE—F " 54.0 " (o) | ZAIIVI=TFS54R #)
R:TUA—=Y B:FT7NA i &
°1, 1-° 2 | BlREA 2:12.2 9-9-7-9 |38.7 | 36.4 | 4 | 472 |ERR_GEM)
10011 [/NbES =L E 54.0 a 172 -) E.:EE}??;E
R:RwSAVT B:AU7P—r5T /=Y T7—LI
[ IR N
w0 48.8-36.2
NOYIA L | 13.1-12.7-13.5-13.8-14.3-12.7-12.6-11.9-11.9-12.4
@ I1—F—&BIEL
13—7— (+3,5)9,6(4,10) (2,8)1,7
230—73— |3(5.9) (4,6,10) (2,8) (1,7)
30—7F— (¥10,9)5,3(6.,8) (1,7) (2,4)
43— — (+10,9)-5,3(6,4)7,8-1,2
@ Ih\R=E
B B 10 3008 | | 94K 4-10 570/ = 4-8 1,220H4 3R 4-9-10 2,300
8 B 10 120 9-10 310M9 5= 4-10 2,010 3EH 10-4-9 12,400/
4 220 4-9 760 5 B 10-4 2,520
9 140/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



